

MOONTLIKE ANTWOORDE VIR: FUNCTIONAL MATHEMATICS

Woorde/Questions 1:

1.1.1 $T_n = -3n + 2$
 $T_1 = -3(1) + 2 = -1$ (1)

$T_2 = -3(2) + 2 = -4$ (1)

$T_3 = -3(3) + 2 = -7$ (1)

1.1.2 $T_{12} = a + 11d$
 $= -1 + 11(-3) = -34$ (1)

$d = T_2 - T_1 = -4 - (-1) = -3$ (1)

1.2.1 $d = T_2 - T_1 = -34 - (-1) = -33$ (1)

$d = x + 2$ (1)

$d = T_3 - T_2 = 10 - 7 = 3$
 $d = T_2 - T_1 = 14 - 11 = 3$
 $d = 4x - 4 = 3 \Rightarrow x = 1$ (1)

$x + 2 = 1 \Rightarrow x = -1$ (1)

$x = 2$ (1)

1.2.2 $T_1 = 2(1) + 1 = 3$ (1)

$T_2 = 3(2) + 3 = 9$ (1)

$T_3 = 7(3) - 1 = 18$ (1)

1.2.3 $d = 4$ (1)

1.2.4 $S_n = \frac{n}{2} [2a + (n-1)d]$
 $S_{12} = \frac{12}{2} [2(5) + (12-1)4] = 6[10 + 44] = 6[54] = 324$ (1)

$S_n = \frac{n}{2} [2a + (n-1)d]$
 $54 = \frac{n}{2} [2(5) + (n-1)4]$
 $108 = n[10 + 4n - 4] = n[6 + 4n]$
 $108 = 6n + 4n^2$
 $4n^2 + 6n - 108 = 0$
 $2n^2 + 3n - 54 = 0$
 $(2n - 9)(n + 6) = 0$
 $n = \frac{9}{2}$ or $n = -6$
 $n = 9$ (1)

1.3 $T_n = a + (n-1)d$
 $-34 = 14 + (n-1)4$
 $-48 = 4n - 4$
 $-44 = 4n$
 $n = -11$ (1)

$n = 9$ (1)

SG

$\frac{ar^5 - 14}{ar^2 - 8} = \frac{1}{8}$ (1)

$r^3 = -8$ (1)

$r = -2$ (1)

2.2.2 $a(2)^2 = 8$
 $4a = 8$
 $a = 2$ (1)

2.3 $S_n = \frac{a(r^n - 1)}{r - 1}$
 $51 = \frac{3(3^n - 1)}{3 - 1}$
 $102 = 3(3^n - 1)$
 $34 = 3^n - 1$
 $35 = 3^n$
 $n = 4$ (1)

$n = 3279$ (1)

$n = 3279$ (1)

$\log_6 \frac{360}{6} = \log_6 36 = \log_6 6^2 = 2$ (1)

$\log_6 6^2 = 2$ (1)

3.1.3 $\log_6 16 + \log_9 27 - \log_4 1$
 $= 4 \log_2 2 + \frac{\log_3 27}{\log_3 9} - 0$
 $= 4 + \frac{3 \log_3 3}{2 \log_3 3} = 4 + \frac{3}{2} = 5.5$ (1)

$4 + \frac{3}{2} = 5.5$ (1)

3.2.1 $\log_6 (x+5) = 4$
 $x+5 = 6^4 = 1296$
 $x = 1291$ (1)

$x = 11$ (1)

3.2.2 $\log_x 125 = 3$
 $x^3 = 125$
 $x = \sqrt[3]{125} = 5$ (1)

$x = 5$ (1)

3.3 $4 \cdot 5^x = 28$
 $5^x = 7$
 $\log_5 7 = x$ (1)

3.4 $2^x = 48$

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

$2^x = 48$
 $x = \log_2 48$ (1)

Woorde/Questions 4:

4.1 $\lim_{x \rightarrow 3} \frac{2x^2 - 5x + 2}{2(x^2 - 5) + 2}$
 $= \frac{2(9) - 15 + 2}{2(9 - 5) + 2} = \frac{5}{10} = \frac{1}{2}$ (1)

$\lim_{x \rightarrow 0} \frac{2(x^2 + 2x + 1) + 2x^2}{2(x^2 + 2x + 1) + 2x^2}$
 $= \frac{2(1) + 0}{2(1) + 0} = 1$ (1)

4.2 $f(x) = -2x^2$
 $f'(x) = \lim_{h \rightarrow 0} \frac{f(x+h) - f(x)}{h}$
 $= \lim_{h \rightarrow 0} \frac{-2(x+h)^2 - (-2x^2)}{h}$
 $= \lim_{h \rightarrow 0} \frac{-2(x^2 + 2xh + h^2) + 2x^2}{h}$
 $= \lim_{h \rightarrow 0} \frac{-4xh - 2h^2}{h} = \lim_{h \rightarrow 0} (-4x - 2h) = -4x$ (1)

$f'(x) = -4x$
 $f'(2) = -8$ (1)

$$\lim_{x \rightarrow 0} \frac{-2x^2 - 4x^2v - 2x^2 + 2x^2}{v} \quad \textcircled{1}$$

$$\lim_{x \rightarrow 0} \frac{-4x^2v - 2x^2}{v} \quad \textcircled{1}$$

$$\lim_{x \rightarrow 0} \frac{v(-4x^2 - 2x^2)}{v} \quad \textcircled{1}$$

$$\lim_{x \rightarrow 0} -4x^2 - 2x^2 \quad \textcircled{1}$$

$$= -4x^2 - 2x^2 \quad \textcircled{1}$$

$$= -6x^2 \quad \textcircled{1}$$

$$4.3.1 \quad g(x) = 5 \quad \textcircled{1}$$

$$\therefore g'(x) = 0 \quad \textcircled{1}$$

$$4.3.2 \quad f(x) = -2x^2 + 12x^2 - 5x \quad \textcircled{1}$$

$$\therefore f(x) = -10x^2 + 24x - 5 \quad \textcircled{1}$$

$$4.3.3 \quad g(x) = (x-5)(x+2) \quad \textcircled{1}$$

$$= x^2 - 3x - 10 \quad \textcircled{1}$$

$$\therefore g'(x) = 2x - 3 \quad \textcircled{1}$$

$$4.4.1 \quad f(x) = 2x^2 - 3x + 5 \quad \textcircled{1}$$

$$\therefore f'(x) = 2(2x) - 3(x) + 5 \quad \textcircled{1}$$

$$= 2(4) - 6 + 5 \quad \textcircled{1}$$

$$= 8 - 6 + 5 \quad \textcircled{1}$$

$$= 7 \quad \textcircled{1}$$

$$4.4.2 \quad f'(x) = 4x - 3 \quad \textcircled{1}$$

$$4.4.3 \quad f'(2) = 4(2) - 3 \quad \textcircled{1}$$

$$= 8 - 3 \quad \textcircled{1}$$

$$4.4.4 \quad y - y_1 = m(x - x_1) \quad \textcircled{1}$$

$$y - 7 = 8(x - 2) \quad \textcircled{1}$$

$$\therefore y = 8x - 10 + 7 \quad \textcircled{1}$$

$$\therefore y = 8x - 3 \quad \textcircled{1}$$

Weg B:

$$4.1 \quad x\text{-Achse: } f(x) = 0 \quad \textcircled{1}$$

$$0 = x^2 + bx \quad \textcircled{1}$$

$$\therefore 0 = x(x+b) \quad \textcircled{1}$$

$$\therefore x = 0 \text{ or } x = -b \quad \textcircled{1}$$

$$\therefore g(0;0) \quad \textcircled{1} \quad A(-b;0) \quad \textcircled{1}$$

4.2 Wir dröckpunkte $f'(x) = 0$.

$$\therefore 3x^2 + 12x = 0 \quad \textcircled{1}$$

$$\therefore 3x(x+4) = 0 \quad \textcircled{1}$$

$$\therefore x = 0 \text{ or } x = -4 \quad \textcircled{1}$$

$$f(-4) = (-4)^2 + 6(-4) \quad \textcircled{1}$$

$$= 16 - 24 + 6(16) \quad \textcircled{1}$$

$$= -8 + 96 \quad \textcircled{1}$$

$$= 88 \quad \textcircled{1}$$

$$\therefore C(-4; 88) \quad \textcircled{1}$$

Weg B:

$$4.1 \quad 27^{2/3} + (\frac{1}{3})^{-2} - 5 \quad \textcircled{1}$$

$$= (3^3)^{2/3} + (3^{-1})^{-2} - 5 \quad \textcircled{1}$$

$$= 3^2 + 3^2 - 5 \quad \textcircled{1}$$

$$= 9 + 9 - 5 \quad \textcircled{1}$$

$$= 18 - 5 \quad \textcircled{1}$$

$$= 13 \quad \textcircled{1}$$

$$4.2 \quad \frac{4^{-n} \cdot 8^{1-n}}{2^{n+2}}$$

$$= \frac{2^{2(-n)} \cdot 2^{3(1-n)}}{2^{n+2}} \quad \textcircled{1}$$

$$= \frac{2^{-2n} \cdot 2^{3-3n}}{2^{n+2}} \quad \textcircled{1}$$

$$= \frac{2^{3-5n}}{2^{n+2}} \quad \textcircled{1}$$

$$= 2^{3-5n-n-2} \quad \textcircled{1}$$

$$= 2^{-2n-4} \quad \textcircled{1}$$

$$= \frac{1}{2^{2n+4}} \quad \textcircled{1}$$

$$= 2^{2n-4+3-2n-2} \quad \textcircled{1}$$

$$= 2^{-3} \quad \textcircled{1}$$

$$= \frac{1}{8} \quad \textcircled{1}$$

$$4.3 \quad \frac{2^{n+2} - 3 \cdot 2^{n+1}}{2^{n+1}}$$

$$= \frac{2 \cdot 2^{n+1} - 3 \cdot 2^{n+1}}{2^{n+1}} \quad \textcircled{1}$$

$$= \frac{2^{n+1}(2-3)}{2^{n+1}} \quad \textcircled{1}$$

$$= \frac{2^{n+1}(-1)}{2^{n+1}} \quad \textcircled{1}$$

$$= -1 \quad \textcircled{1}$$

$$= \frac{2^{n+2} - 3 \cdot 2^{n+1}}{2^{n+1}} \quad \textcircled{1}$$

$$= \frac{2^{n+1}(2-3)}{2^{n+1}} \quad \textcircled{1}$$

$$= \frac{2^{n+1}(-1)}{2^{n+1}} \quad \textcircled{1}$$

$$= -1 \quad \textcircled{1}$$

$$= -1 \quad \textcircled{1}$$

$$4.4 \quad \sqrt{18}(\sqrt{80} - \sqrt{2})$$

$$= \sqrt{9 \cdot 2}(\sqrt{16 \cdot 5} - \sqrt{1 \cdot 2}) \quad \textcircled{1}$$

$$= 3\sqrt{2}(4\sqrt{5} - \sqrt{2}) \quad \textcircled{1}$$

$$= 3\sqrt{2} \cdot 4\sqrt{5} - 3\sqrt{2} \cdot \sqrt{2} \quad \textcircled{1}$$

$$= 12\sqrt{10} - 3 \cdot 2 \quad \textcircled{1}$$

$$= 12\sqrt{10} - 6 \quad \textcircled{1}$$

Weg 1:

$$7.1 \quad \sqrt[5]{3x+1} = 25 \quad \textcircled{1}$$

$$\therefore 5^{3x+1} = 5^{25} \quad \textcircled{1}$$

$$\therefore 3x+1 = 25 \quad \textcircled{1}$$

$$\therefore 3x = 24 \quad \textcircled{1}$$

$$\therefore x = 8 \quad \textcircled{1}$$

$$\therefore -x = 8 - 9 \quad \textcircled{1}$$

$$\therefore x = 9 \quad \textcircled{1}$$

$$7.2 \quad \sqrt[4]{x} = 27 \quad \textcircled{1}$$

$$\therefore (x^{1/4})^4 = (27)^4 \quad \textcircled{1}$$

$$\therefore x = 27^4 = 81 \quad \textcircled{1}$$

$$\therefore x = 81 \quad \textcircled{1}$$

Weg 2:

$$9.1 \quad f(x) = (x^2 + 2x)^2 \quad \textcircled{1}$$

$$= 21 \quad \textcircled{1}$$

$$9.2 \quad f(x) = (x^2 + 2x)^2 \quad \textcircled{1}$$

$$= 4x^2 + 8x \quad \textcircled{1}$$

$$= 24 \quad \textcircled{1}$$

$$9.3 \quad \text{Mittelpunktformel: } f(y) = f(x)$$

$$b_2 - b_1$$

$$= \frac{244 - 24}{8 - 1} \quad \textcircled{1}$$

$$= \frac{220}{7} \quad \textcircled{1}$$

$$= 24 \quad \textcircled{1}$$

x	-3	-2	-1	0	1	2	3
2 ^x	1/8	1/4	1/2	1	2	4	8
(1/3) ^x	9	4	2	1	1/2	1/4	1/8
2 ^{-x}	8	4	2	1	1/2	1/4	1/8

